KENDRIYA VIDYALAYA BHU
MONTHLY TEST (SEPTEMBER) CLASS Xl (2024-25) ECONOMICS
TIME : 90 MINUTES M.M.: 40
INSTRUCTIONS:

1. Q1to 10 are MCQs of 1 mark each. 3. Q 11-12 are SAQs of 3 marks each.
2. Q13-15 are SAQs of 4 marks each. 4. Q 16-17 are LAQs of 6 marks each.

1. Regarding the Fixed Exchange Rate, consider the following statements :

i) The fixed exchange rate system is market driven.

ii) It assures the stability of the exchange rate.

iii) FERs put a heavy burden on the Govt. to maintain the Exchange Rate.

Which of the statement(s) given above is/are correct ?

faftaa RfAET X § ey & PArafaf@a syt w R #1:

1 R Ay & gorreh aeR @i #

2 Ig RAAT g i AT &1 3marEa a1 §1 3 FERs RAAT @ 1 70 @ § AT WHR W /1Y agr sed &
IFR T v F=t & § Fla @1 Fla qavd @ &2

a)iandiionly b) ii and iii only c) i and iii only d) i, ii and iii

2. Which of the following is/are the effect of the depreciation of the rupee?

i) Import of goods and services become cheaper.

ii) Export of goods and services becomes competitive.

Select the correct answer using the codes given below:

farafaf@a & & i aV @ 9T F AT g FT wod AR 2

1 gEg3l T Fast FT HAE FEAT @ AT ¥

2 Fgat AR Jan w1 frafa gfaeadt @ smar @1 AR Ru v F15 #1393 wEF 7@ s o

1) 1 only b) 2 only c) Both 1and 2 d) Neither 1 nor 2

3. . Choose the correct option from the given alternatives :

Assertion (A) : Micro credit can help empower women and make them financially independent.

SIaT : HISh shise AR FI AUFT Tl 3R 3o AT §T F TIAT Folld H HAGG HL Tohell gl

Reason (R) : Micro credit involves small loans provided at reasonable interest rates that can help people start
their own ventures. HROT: AGH! $fee # 3RT su=r R W Yo FT 71T 8¢ Hor AT & S a9t Fr 3gar
35UA YE A A A F FHhA

a) Assertion is true but Reason is false b) Assertion is false but Reason is true

c) Both Assertion and Reason are true and reason is the correct explanation of assertion.

d) Both Assertion and Reason are true and reason is not the correct explanation of assertion.

4. Invisible items are included in the :

a) balance of trade account b) current account of BOP c) capital account of BOP

d) none of these

5. T IEQU FHA WA B

a) SR @I FT I b) T WTATBOP ) Iolt WIAT BOP  d) §1dt & FHI§ g

5. Choose the correct option from the given alternatives :

Statement 1: Primary sector is the main source of employment for the majority of workers in India. ITafHE &=
aRa & I Afw F [v SR F1 gEw 99 2

Statement 2: Women workers concentration is very low in the primary sector.

wrafas & # ARer 4fAw f goaa aga w7 R

a) Statement 1 is true and Statement 2 is false b) Statement 1 is false and Statement 2 istrue c) Both the
statements are true d) Both the statements are false

6. The interest payments as per the government budget during a year are Rs. 10,000 crores, which is 40% of
primary deficit. Then fiscal deficit will be Rs. crores.

TF q¥ F SR, TFR T & IR, AT AT 110,000 F3 , St TAAF €1 FT 40% 81 a9 AT wrer g
a) 25,000 b) 35,000 c) 20,000 d) 14,000

7. An establishment with four hired workers is known as (formal/informal) sector establishment.

IR R & H4fAe a oF gfases & (stveReseteaie) 8 § w0 F FEr smar



8. Choose the correct option from the given alternatives :

Statement 1: SHGs have helped in the empowerment of women.

Statement 2: SHGs credit provisions are generally referred to as micro credit programmes.

fmafaf@a Fuat A o @F e vT |6 RAeer F1 ama +

FYA 1: SHGs A Afgemat & FufFaaior # Agg A7 |

FYA 2: THUTSAT HOT FAUTAT F1 HMHAAR W FEH KT $EHA & T & ST ST ¢ |

a) Both the statements are true b) Both the statements are false c) Statement 1 is true and Statement 2 is
false d) Statement 2 is true and Statement 1 is false

9. State the formula for estimation of Fiscal Deficit. IorIITr ®reT AT FI 1 ¥ fAf@w

10. The amount collected by the Government in the form of interest , fees and dividends is known as ..
a) Tax revenue receipts b) Capital receipts c¢) Non tax revenue receipts d) None of these

WEHR gaRT THiAd A 7§ TR, <4191, FF T ATHIT & §T § ___ Fgardl ¢

a) FY Tored WIfCAr b) Gelera Wiftaar o) I #T T Nftadr d) 50 & S 7@

11. What do you mean by Balance of Payments? Write the components of current account of BOP.
AT Wl § T FIT FASA 2 I WJolol & A @I, F e Qe

12. Discuss the importance of credit in rural development. IITHior RFT & HOT F Agea A RAITaT AT

OR 31t
Explain the steps taken by the government in developing rural markets.
AT aERT & AW 7 WFR @R 310 AT FEAT i sarEdr A
13. Why are less women found in regular salaried employment?
orafa aaaael Ve & F7 AT F3t 9 ST §2
14. What is rural development ? Why is rural development essential for Indian economic development? Bring
out the key issues in rural development. Im#ior R/ Fa1 &2 AR 3l Rem & Qv aehor ey F=4t
maegF § 2 AT RAET F 7R W g sifaw)
15. “High fiscal deficit is inherently bad for the health of an economy”. In the light of the above statement,
discuss the implications of Fiscal Deficit .
"ITq AN e FH srdcgaTdr F T F Qv wmiee 0 8 @09 3 SWEd U9 § AeE # 9N
o F fAfarat w o=t F OR 31T
“Through its budgetary policy , government allocates resources in accordance with the requirements of the
country”. Do you agree with the given statement? Justify your answer with valid reason.
TER A Fordry Afy & Aregsw & G A AraeIFat F FTER FAGAT FT HraeaT FCA FIFAT 3T Be v
FUT ¥ WA § ? 39 FROT WA 9 3e1 A giRe F
16. Discuss any two disadvantages of casualization of the workforce.
FHEAA F FEAPHEOT F el a7 FFAE W T= =W
17. (i) “Taxation is an effective tool to reduce inequalities of income”. Justify the given statement with valid
reasons. "HAETT 3T T IFFATAIS F FH FA & AT Th A 3THI0T " 1RT 30wy F1 der FRON kT 3T se=d|
(ii) From the following data about a government budget, find
(a) Fiscal deficit (b) Primary deficit
WHR g9 F TR H Aafaf@a 3wt ¥ o) TawiTr g 31 b) TafAs grer @st |

Particulars and Amount (in crores)

1. Revenue Expenditure To&d <9I = 70,000 2. Borrowings 3YNT = 15,000
3. Revenue Receipts IToT&d qIfcaar = 50,000
4. Interest Payments Tl 3?!?”?-[ = 25% of revenue deficit
OR

Calculate Revenue Deficit , Fiscal Deficit and Primary Deficit from the following data :
Ffaf@d 3Hsl T T =1eT , T =eT 3R wafae =mer 7 avEr #31

ltems and Amount (in crores)

1. Revenue expenditure = 22,250 2. Capital expenditure = 28,000
3. Revenue receipts = 17,750 4. Capital receipts (net of borrowing) = 20,000
5. Interest payments = 5,000 6. Borrowings = 12,500



